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In music theory, six-four (6/4) is defined as a compound duple time signature where each beat is

a dotted half note (minim) ( J ). If we play the 6/4 time slowly it will be perceived as a simple
6-beat time.
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considered as a simple 6-beat time signature.

1- In this exercise each quarter note (crotchet) has the power of a beat because it is played slowly. In these lessons, the 6/4 time is
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Sometimes a simple or a compound beat (or part of them) with dual subdivisions are divided into
3 or 6 parts which are called triplets.

Example: g r J”E_}Lr 421 r L;r i r E_L;.
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1- The second beat of the first bar is a rising 16th note (semiquaver) equal to 1/4 of a beat. The second beat of the second bar is also a rising

16th note but is equal to 1/6 of a beat because in the second bar the 16th note is deemed as a triplet. As a result, the last rising 16th note of
the ringlets is 1/6 of a beat though the two rising 16th notes have exactly the same shape in the second beat of both bars.
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2- Start the metronome, choose the quarter note and set the tempo at 70. Divide the first tick sound into 2 and the second one into 3
equal parts and count. Practice enough to gain mastery and get ready for playing triplets.

34
Shiraz-Beethoven.ir



1o203 40

2 5 )

2

'l IR
PN .

V/
> 3

i
-

gD

DD s

A d

1

4

2

__Shiraz-Beethoven.ir

63



